YEAR 13 PRACTICAL 10
Determination of the Ka of a weak acid of unknown concentration
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X
= 
end point (mid way of the vertical)



=
23.60 cm3
moles of alkali
 
=
c x v



=
23.6 x 0.1/1000



=
2.36 x10-3
moles of acid
=
moles of alkali


=
2.36 x10-3
Conc of acid
=
n /v


=
2.36 x10-3 x 1000/25


=
0.0944

Half neutralisation
=
23.6/2



=
11.8

pH of half neutralisation
=
pKa of the acid

Ka

=
10-4.7


=
2 x10-5

	Vol of NaOH /cm3
	pH

	0.0
	2.70

	2.0
	3.15

	4.0
	3.60

	6.0
	4.00

	8.0
	4.20

	10.0
	4.25

	12.0
	4.35

	14.0
	4.55

	16.0
	4.70

	18.0
	4.95

	20.0
	5.20

	20.5
	5.20

	21.0
	5.35

	21.5
	5.40

	22.0
	5.60

	22.5
	5.95

	23.0
	6.40

	23.5
	9.50

	24.0
	10.45

	26.0
	11.15

	28.0
	11.40

	30.0
	11.50

	35.0
	11.65
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